EITANAAHIITIKEY AYKHYEIYX YTOYYX PHTOYX APIOMOYX (II)

Yooio Prunnidov - Madnuatikog

1) A:(—l+l—lj-(0,65—0,15)
2 3 4

2) B=3-(-0,6)+6-(-4,5)+9.8-(5-7)

3) r:—14—5.@—5j+4-(4,8)

4) A=(=5)-(+2)-(-0,25)- (+ 3 : (+ %j (=3)

5) E=0,7 -(— g) +0,01-(-2)* - (-10)* - (+0,25)

6) Z=—16+(=23)+(+2,7)+(=57) + (+16) + (+1,3)

yoHol 13,347

27510 2 5 10

8) O=(-37)+(+575)—-(+L7)—(-9,2) +(-0,65) - (+7,35)

3 3
9) I—l—(—0,5)+(—gj—(+§)+o,6

10) K =~ l—lj—(—éﬂ—é + 3 1
15 5 3 5 15
1) A=-25+(-2,7+3-5,2)-(3,2-2,1+5,6)
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12) M =(=1) ( 5) (+3j(1) (+3)( 3j( D

_ 3y (30
13)N=-%:( 3)+( sj'4 54:(-9)
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